HISA (HN)-05

West Bengal State Univérsity
- B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2011
| : - Part - III

HISTORY — HONOURS
Paper - V

Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in tte margin indicate full marks.

Answer Question No. 1 and any four from the rest. |

S 8 2 R SIof T e BT 2iose e o |

GROUP - A
fetet -2

1. Answer any four questions : ' 4 x 5= .20
A (@I Bl 2osF @‘Qﬁ et 3
a) " Evaluate ‘Travels in the Mughal Empire‘ written by B_emler.’
_ RIS 19l Travels in the Mughal Empire'~6 St o |
b) %at was the significance of Akbar's pblicy of Sulh-i-Kul ?
SRR Jore-2-ge Ao Sleo F 7
¢)  Explain the meanings of the terms ‘Chautly’, ‘Sardeshmukhi’ and Saranjami

‘e, TR’ @ Sy W W R e |
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d) Discuss the significance of the Third Battle of Panipat.
AT $OIT AR Blestd Aol e |

e) What was the Ryotwari system ? Who introduéed it first and where ?
mﬂ'@emﬁwzﬁ ? G (R s e eI T ¢

9 ' Dgfine ‘Dua_l Government’ system.

AN’ W wzes fHefm |

g) What does the term ‘deindustrialization’ signify ?
“efeEE’ *cw o1 F e

h) - What was the significance of the Treaty of Amritsar ?

TSI A Siestd F a2

GROUP - B
faeis -«
Answer any four questions : 4 x .20 = 80
@ T Al 2eam Twn e
2. Discuss the characteristics of Mansabdari éystem during Akbar’s reign. What were

the changes brought about by Jahangir, Shah Jahan and Aurangzeb ? 10 + 10

REAEd ARG mwrﬁw ISt R TGI T T zw%‘m wTEL 8 SHeALCETE

S <2 AP ) F) AR 9rfes ¢
3. Critically review Aurangzeb’s Deccan Policy. wa far was it responsible for the
downfall of the Mughal Empire ? | 12 + 8

| SNEFLSCIA WG] FIfoq SNEHANES o P | Y AANSIR 6 2 JIfo ol wi]
fest 2
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Examine the roles of Indian as well as European merchants in the oceanic trade of

the 17th century.
AP ST TESRIN alfelcen s@eR wuil Beralm Aldamm i T o |

What is meant by ‘Karkhana' in Mughal India ? Explain, in this connection, the rele of
artisans in non-agricultural production in Mughal India.

YR BETS PRAANA L F 7 3 20 Y1 SIS WP Sewiitel fdorra g R T |

Write a brief essay on Mughal Court painting.

e VRG] e Tl G fs wiPEy e forger |

Discuss the characteristics of the Maraltha administrative system under Shivaiji.

e sfiw A el e RiRiel siEiva sea

Discuss the reasons behind the conilict between Siraj-ud-daula and the English East

India Company. What was the significance of the Battle of Plassey ? 10 + 10

Pre-87- 07T & Zxaw 5 251 (R T AT el SaAD T | oA R
wleord B ot 2 -

Why did Lord Cornwallis introduce the Permanent Settlement in Be'ng_al ? Briefly

discuss its impact upon agrarian society. 10 + 10

T M @ AR Barzifl T odw IR 2 PRA-ICT To 9 UG FTHHA ST
T |

Do you agfee with the view that both decline and growth co-existed in 18th Century

India ?

STioif R B TR TR RS (4 ST ST GIRTS R ) B s Th 6 et 7
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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2011
Part - Il

HISTORY — HONOURS
Paper - VI |

Duration : 4 Hours : Full Marks : 100

Candidates are required {o give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

GROUP - A
fret -

Answer -Question No. 1 and any four from the rest.
S TR AW G2 A (T (IS FEAM dosiw Sow A
1. Answer any _four questions within 250 words each : ' ' 4x5=20

mmﬂmﬁm@maﬁﬁzsommmﬁm
a) What is Utilitarianism ?

fawam zercs & @wam ¢
b) How \;vas the Prarthana Samaj different from the.Brahmo Samaj ?

m@wﬁmﬁmw (A 79 e 2
c) Account for the outbreak of the Indigo Revolt in Nineteenth Century Bengal.

WWWW%%WW@%WWl
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©d) How do vou assess the role of the Moderate Nationalists in the growth of the

Indian National Movement ?

et TSt SiCARIcR R Traed) eeheRiTa S s Rreie R
T 2 " | | | L

e}  When and why-did the Muslim League emerge ?
_awlﬁ\s (3 AT fiter Seofe < 2
f) What is the significanc'e of the Lucknow Pact ?
A e vy 1 & 2
g _I‘:Why ;Jas the Swarajya. Party formed ?
'hJ ~ How (iid the commercialisation of agriculture affect the pea.sants ?

Tﬁaaﬁwqﬁﬁmw@ﬂam TR ¢

GROUP - B
et -4
Answer any four questions : 4 x 20 =80
(Y (PN BT THT @@a fet 8
' 2, Do'ycu consider the movement initiated by.the Deroz.ians as é reacticnary one

* vis-a-vis conizmporary Bengali society.

il B A B T IAAGE AT e celfiecs Totafins wifiom efeam <l effmrdie

5]

How did utilitarian ideas influence the reforms of Lord William Bentinck ?

=76 SRfTN (A AR g el o drei S e
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Evaluate the role of Western education in fostering nationalist feeling in India.
SRIGAH SISROEM] (Fer Rwia sirorey fMrvm it & feet ¢

How did the Aligarh Movement seek to reform Muslim society in India ? Would you

call it modernist ?

faerg oifems SitvEe SIS THN e AeEE o 2 iR 5 93 e
SilgrRmetatinl e wifefes e 2

Give an account of the growth of modern industry in India between 1919 and 1939.
To what extent did colonial rule affect the nature of industrialisation during this

period ? 12 +8

SHYD T (AT Spod A 2¥E ware wgfie Fe e amd e | @ g SefEtE =em

Analyse the rise of Gandhi in Indian politics. How did Gandhi give a new look to the

Indian National Movement ? _ 14 + 6

w@aaﬁm@sﬁﬁﬂa@mﬁmqw nﬁsﬁw@a:ﬁr@awmﬁﬂmﬂmmm
ICARGH ? -

Is it correcf to define the ‘Quit India’ Movlement as the revolution of 1942 ?
BT QTSI AT ms;‘ﬂmﬁﬂﬂﬂm ?

Did the Tebhaga movement succéed in achieving its goal ?

(TG SNCHIT (6 R STy #fTel I7Fe1 LA 7

Was the Partition of India in 1.947 inevitable ?

358947 O ot 5 S fet 2
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B A. /B.Sc./B.Com. ( Honours, Major, General } Examinations, 2011

PART - III

' HISTORY — HONOURS
_ Paper -VII
Duration : 4 Hours | [ Full Marks : 1004

The figures in the margin indicate full marks.
AR RS e (e |

-‘Answer Question No. 1 and any four of the rest.

SR O R I (T (P 1R Sex e |

Group — A
feom - ¥
1. Answer any four of the following questions: 4 x5 = 20_
3 (I SRS 2end $od et | | 8 x ¢ = R0
a) | What is the significance of the storming of the Bastille ?
e ok TS et % 7
b) What was the civil constitution of the clergy ?
e AN efRam &6

<) What was the ‘Spanish ulcer’ ?
d) What were the two options before the Frankfurt Parliament for German unity ?
FIEE AFAICER ANE S @m-viﬁﬁﬁ%%.?

€) What was the Narodink movement ?

[ e 2

fy What was the significance of the revolt of the Paris Commune ?

 orfen oS R weor & e o
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_ g  What was the Kulturkampf ?

TAGIRTE FNF 0 ?

h) What was Weltpolitik ?

|G o 2
Group - B
faem - 4
;&nswer any four of the following questions. 4 x 20 =80
(T oI B e B ey 8 x30=vo
2. To wﬁét extent did the writings of the philosophers contribute to the French
Revolution ? ' ) 20

FA R TR w{Awmra 261 S Fodii et 2
3. Make an assessment of the Jacobin Republic. Was the terror justified ? 10+ 10
THICPIRT SIeioras b T I 1 FErt B sy e 2

4.  Would you agree with the view that Napoleon was both the heir to and the liquidator

of the_ revelution ? ) 20

et Rgms Teafl @3t 1ERT 28 fRew | W fo ] 5 AW~ FEw 2

av

Did Metternich aim at creating a conservative system across Europe ? To what extent

was he successful ? 14+ 6

| GlbRE R BRI @l et 9 oG SIS (S ¢ R e e ST 2

6. Atterupt a comparative estimate of Mazzini and Cavour in the process of Italian

unification. 20

SoIfer G PR WeB ¢« FoEy Siew gob oEREr R T
7. Discuss the role of the state in the process of Russian industrialisation. 20

A oy e TG SR SIS
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What were the main features of Bismarck’s foreign policy ? How far did Kaiser
Wilthelm-II depart from them ? - - 12+8

- T ~RiETfen aam W e fe » Tigens 8 ST v cute b Ry awfew ¢

How was Europe polarised in late 19th and early 20th century ? Did it have any

impact on international politics ? 12+8
B *od oE ¢ e =ora wde $9@e freim reieftne wafee ¢+ wnewfeer ammifems
e @3 Com 2SR ~icefie ¢

Why were the Bolsheviks successful in the Russian Revolution of 1917 ? Was it

merely a handiwork of Lenin ? _ _ 2 +8

539 TR T Rera I (o sl qaiee 2 @fb B o i 1S 2o 2
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' B.A./B.Sc./B.Com. { Honours, Major, General ) Examinations, 2011

PART -~ III

HISTORY — HONOURS
Paper -VIII

Duration : 4 Hours | [ Full Marks : 100

The figures in the margin indicate full marks.

ATFY TN AT e |
Group - A
fee - =
1. Answef any four of the fbllowing questions : 4 x5=20
@ @ Bia 9ra Ty =y : 8 x ¢ =20
a) . What conditions were imposed upon Germany by the Versailles Treat_y ?
| iR piers T ST eo §1 P =S IR T 2 2
_b) Why did the Weimer Republic 'éuﬁer from instability from the very beginning ?
o O (U IR e IR 2T 7 |
c)  What was the significance of Dawes Plan ?
TleEE siivrsae ewy 2
d)  Analyse the importance of Locarno Pact (1925) in European politics.
BTy IERIers ERE 5Re (ssxe) wwe Rommd o+
€} Why was NATO formed ?
A ¢ oS = 2
f) How would you explain the impprtance of COMECOﬁ ?

FNEER SFT WA IFA |
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g} Assess the role of India in the Korean War.
AN [ SRS SRR e 9 !
h)  Whatdo you mean by ‘Great Leap Forward’ ?

‘Great Leap Forward’ 9708 | (A& 9

Group-B
e - 4
Answer any fou_r of the following questions. 4 x 20=80
@ I 51l eivsw Ty f 8 x 20 =vo
‘2. What measures did France adopt to overcome her sense of inéecurity after 1919 ?

How did these measures affect European diplomatic relations during the period
between the two World Wars ? _ 12+8

mm-mv{amﬁmﬁmmwiqmwﬁsﬁsw wwﬁa—vfﬂi&ﬁw
TRE “iE TBwReR Folafes e ool fre eeie ww 2

3. Why did the Leagﬁe of Nations fail to fulfil its ideas ? 20

Aol ORGP O S TN i TS (I 2

4, Anaiyse the impact of the World Economic Depression on international relations. 20

GRGIfeT Tooldn wora fry wftafes sy efoR Roses %)

5. 'What was the basis of Nehru’s policy of non-alignment ? Assess India’s contribution to
the growth of non-alignment movement. 10 + 10

FFI
6. How did the Soviet Union establish its hegemony over Eastern Europe between
1945 and 1956 ? 20

$58E (T S50L-97 WG GISES TS et o et o ey g weafeet 2
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Why did the United States become involved in the Korean War ? What were its effects

in international politics ? 10+ 10

(P oA (TR 0T TYe aiEe 2 e It «3 & aem sivefes o

Analyse the impact of the rise of Communist China in international politics. 20

WEHITST ATAITSCS Fois B SUMRT /o) Reuas %+ |

How did the German reunification happen after the fall of the Berlin Wall ? 20

AT ABIEE oE o i iR o deRE 27 ¢

Assess the impact of Globalization on the contemporary world. 20
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